



Thermal transfer labels

White matt paper; **core diameter of 38 mm**.
 Die-cut labels. 5 or 10 rolls per package.
 563/566 thermal transfer film recommended. (see p. 74)

SIZE (mm)	INDEX	ROLLS/ PACK.	QTY/ ROLL	QTY/ PACK.
34,0 x 15,0	PLT034015D9PM	5	2500	12500
38,0 x 19,0	PLT038019D9PM	5	2000	10000
45,0 x 23,0	PLT045023D9PM	5	2000	10000
47,0 x 28,0	PLT047028D9PM	5	1500	7500
50,0 x 30,0	PLT050030D9PM	10	1000	10000
55,0 x 35,0	PLT055035D9PM	10	1000	10000
65,0 x 35,0	PLT065035D9PM	10	1000	10000
70,0 x 48,0	PLT070048D9PM	10	1000	10000
70,0 x 150,0	PLT070150D9PM	10	400	4000
80,0 x 48,0	PLT080048D9PM	10	1000	10000
90,0 x 48,0	PLT090048D9PM	10	1000	10000
101,6 x 23,0	PLT101023D9PM	5	2000	10000
101,6 x 36,0	PLT101036D9PM	10	1000	10000
101,6 x 48,0	PLT101048D9PM	10	1000	10000
101,6 x 74,0	PLT101074D9PM	10	500	5000
101,6 x 98,0	PLT101098D9PM	10	500	5000
101,6 x 150,0	PLT101150D9PM	10	400	4000



Thermal transfer labels

White matt paper; **core diameter of 76 mm**.
 Die-cut labels. 2, 3 or 4 rolls per package.

SIZE (mm)	INDEX	ROLLS/ PACK.	QTY/ ROLL	QTY/ PACK.
34,0 x 15,0	PLT034015B9PM	2	6000	12000
38,0 x 19,0	PLT038019B9PM	2	5000	10000
45,0 x 23,0	PLT045023B9PM	2	5000	10000
47,0 x 28,0	PLT047028B9PM	2	5000	10000
55,0 x 35,0	PLT055035B9PM	2	5000	10000
65,0 x 35,0	PLT065035B9PM	2	5000	10000
70,0 x 48,0	PLT070048B9PM	4	3000	12000
70,0 x 150,0	PLT070150B9PM	4	1000	4000
80,0 x 48,0	PLT080048B9PM	4	3000	12000
90,0 x 48,0	PLT090048B9PM	4	3000	12000
101,6 x 23,0	PLT101023B9PM	2	5000	10000
101,6 x 36,0	PLT101036B9PM	2	5000	10000
101,6 x 48,0	PLT101048B9PM	4	3000	12000
101,6 x 74,0	PLT101074B9PM	3	2000	6000
101,6 x 98,0	PLT101098B9PM	3	1500	4500
101,6 x 150,0	PLT101150B9PM	4	1000	4000







Thermal transfer labels made of MT300 matt polyester on rolls

1 or 3 rows, core diameter of 38 mm, rounded corners, die-cut with permanent adhesive.

SIZE (mm)	INDEX	LABELS/ROLL
15,0 x 6,0-3	PLT015006D*SM/3	10000
18,0 x 6,5-3	PLT018006D*SM/3	10000
18,0 x 9,0-3	PLT018009D*SM/3	10000
20,0 x 8,0-3	PLT020008D*SM/3	10000
25,4 x 12,7-1	PLT025012D*SM	2000
25,4 x 12,7-3	PLT025012D*SM/3	10000
26,0 x 10,0-1	PLT026010D*SM	2000
26,0 x 10,0-3	PLT026010D*SM/3	10000
26,5 x 17,5-3	PLT026017D*SM/3	5000
30,0 x 20,0-1	PLT030020D*SM	2000
30,0 x 20,0-3	PLT030020D*SM/3	6000
32,0 x 9,5-1	PLT032009D*SM	2000
32,0 x 9,5-3	PLT032009D*SM/3	10000
34,0 x 15,0-1	PLT034015D*SM	2500
38,0 x 19,0-1	PLT038019D*SM	2000
38,1 x 12,7-1	PLT038012D*SM	2000
40,0 x 20,0-1	PLT040020D*SM	2000
45,0 x 23,0-1	PLT045023D*SM	2000
47,0 x 28,0-1	PLT047028D*SM	1500
50,0 x 23,0-1	PLT050023D*SM	2000
50,0 x 30,0-1	PLT050030D*SM	1000
60,0 x 23,0-1	PLT060023D*SM	2000
60,0 x 36,0-1	PLT060036D*SM	1000
65,0 x 35,0-1	PLT065035D*SM	1000
65,0 x 53,0-1	PLT060053D*SM	750
70,0 x 48,0-1	PLT070048D*SM	1000
76,2 x 22,9-1	PLT076022D*SM	2000
76,2 x 36,0-1	PLT076036D*SM	1000
80,0 x 48,0-1	PLT080048D*SM	1000
89,0 x 82,0-1	PLT089082D*SM	500
90,0 x 48,0-1	PLT090048D*SM	1000
101,6 x 23,0-1	PLT101023D*SM	2000
101,6 x 36,0-1	PLT101036D*SM	1000
101,6 x 48,0-1	PLT101048D*SM	1000
101,6 x 74,0-1	PLT101074D*SM	500

* material and color:

4- MT300 yellow matt;

9 - MT302 white matt;

8 - MT301 silver matt

3200 thermal transfer film recommended.

Thermal transfer labels made of MT300 glossy polyester on rolls

1 or 3 rows, core diameter of 38 mm, rounded corners, die-cut with permanent adhesive.

SIZE (mm)	INDEX MT301B / MT302B	INDEX MT303 VOID	LABELS/ROLL
15,0 x 6,0-3	PLT015006D*SG/3	PLT015006DSEC/3	10000
18,0 x 6,5-3	PLT018006D*SG/3	PLT026010DSEC/3	10000
18,0 x 9,0-3	PLT018009D*SG/3	PLT018009DSEC/3	10000
20,0 x 8,0-3	PLT020008D*SG/3	PLT020008DSEC/3	10000
25,4 x 12,7-1	PLT025012D*SG	PLT025012DSEC	2000
25,4 x 12,7-3	PLT025012D*SG/3	PLT030020DSEC/3	10000
26,0 x 10,0-1	PLT026010D*SG	PLT026010DSEC	2000
26,0 x 10,0-3	PLT026010D*SG/3	PLT032009DSEC/3	10000
26,5 x 17,5-3	PLT026017D*SG/3	PLT026017DSEC/3	5000
30,0 x 20,0-1	PLT030020D*SG	PLT030020DSEC	2000
30,0 x 20,0-3	PLT030020D*SG/3	PLT030020DSEC/3	6000
32,0 x 9,5-1	PLT032009D*SG	PLT032009DSEC	2000
32,0 x 9,5-3	PLT032009D*SG/3	PLT032009DSEC/3	10000
34,0 x 15,0-1	PLT034015D*SG	PLT034015DSEC	2500
38,0 x 19,0-1	PLT038019D*SG	PLT038019DSEC	2000
38,1 x 12,7-1	PLT038012D*SG	PLT038012DSEC	2000
40,0 x 20,0-1	PLT040020D*SG	PLT040020DSEC	2000
45,0 x 23,0-1	PLT045023D*SG	PLT045023DSEC	2000
47,0 x 28,0-1	PLT047028D*SG	PLT047028DSEC	1500
50,0 x 23,0-1	PLT050023D*SG	PLT050023DSEC	2000
50,0 x 30,0-1	PLT050030D*SG	PLT050030DSEC	1000
60,0 x 23,0-1	PLT060023D*SG	PLT060023DSEC	2000
60,0 x 36,0-1	PLT060036D*SG	PLT060036DSEC	1000
65,0 x 35,0-1	PLT065035D*SG	PLT065035DSEC	1000
65,0 x 53,0-1	PLT060053D*SG	PLT065053DSEC	750
70,0 x 48,0-1	PLT070048D*SG	PLT070048DSEC	1000
76,2 x 22,9-1	PLT076022D*SG	PLT076022DSEC	2000
76,2 x 36,0-1	PLT076036D*SG	PLT076036DSEC	1000
80,0 x 48,0-1	PLT080048D*SG	PLT080048DSEC	1000
89,0 x 82,0-1	PLT089082D*SG	PLT089082DSEC	500
90,0 x 48,0-1	PLT090048D*SG	PLT090048DSEC	1000
101,6 x 23,0-1	PLT101023D*SG	PLT101023DSEC	2000
101,6 x 36,0-1	PLT101036D*SG	PLT101036DSEC	1000
101,6 x 48,0-1	PLT101048D*SG	PLT101048DSEC	1000
101,6 x 74,0-1	PLT101074D*SG	PLT101074DSEC	500

* material and color:

8 - MT301B silver gloss;

9 - MT302B white gloss;

5095 thermal transfer film recommended. (see p. 74)

We are regularly adding new label sizes. Contact us if you have not found the dimension you want.



Thermal transfer labels made of MT300 matt polyester on rolls

1 or 3 rows, core diameter of 76 mm, rounded corners, die-cut with permanent adhesive.



SIZE [mm]	INDEX	LABELS/ROLL
15,0 x 6,0-3	PLT015006B4SM/3	10000
18,0 x 6,5-3	PLT018006B4SM/3	10000
18,0 x 9,0-3	PLT018009B4SM/3	10000
20,0 x 8,0-3	PLT020008B4SM/3	10000
25,4 x 12,7-1	PLT025012B4SM	2000
25,4 x 12,7-3	PLT025012B4SM/3	10000
26,0 x 10,0-1	PLT026010B4SM	2000
26,0 x 10,0-3	PLT026010B4SM/3	10000
26,5 x 17,5-3	PLT026017B4SM/3	5000
30,0 x 20,0-1	PLT030020B4SM	2000
30,0 x 20,0-3	PLT030020B4SM/3	6000
32,0 x 9,5-1	PLT032009B4SM	2000
32,0 x 9,5-3	PLT032009B4SM/3	10000
34,0 x 15,0-1	PLT034015B4SM	2500
38,0 x 19,0-1	PLT038019B4SM	2000
38,1 x 12,7-1	PLT038012B4SM	2000
40,0 x 20,0-1	PLT040020B4SM	2000
45,0 x 23,0-1	PLT045023B4SM	2000
47,0 x 28,0-1	PLT047028B4SM	1500
50,0 x 23,0-1	PLT050023B4SM	2000
50,0 x 30,0-1	PLT050030B4SM	1000
60,0 x 23,0-1	PLT060023B4SM	2000
60,0 x 36,0-1	PLT060036B4SM	1000
65,0 x 35,0-1	PLT065035B4SM	1000
65,0 x 53,0-1	PLT065053B4SM	750
70,0 x 48,0-1	PLT070048B4SM	1000
76,2 x 22,9-1	PLT076022B4SM	2000
76,2 x 36,0-1	PLT076036B4SM	1000
80,0 x 48,0-1	PLT080048B4SM	1000
89,0 x 82,0-1	PLT089082B4SM	500
90,0 x 48,0-1	PLT090048B4SM	1000
101,6 x 23,0-1	PLT101023B4SM	2000
101,6 x 36,0-1	PLT101036B4SM	1000
101,6 x 48,0-1	PLT101048B4SM	1000
101,6 x 74,0-1	PLT101074B4SM	500

* material and color:
 4- MT300 yellow matt;
 9 - MT302 white matt;
 8 - MT301 silver matt

3200 thermal transfer film recommended.

Thermal transfer labels made of MT300 glossy polyester on rolls

1 or 3 rows, core diameter of 76 mm, rounded corners, die-cut with permanent adhesive.

SIZE [mm]	INDEX MT301B / MT302B	INDEX MT303 VOID	LABELS/ ROLL
15,0 x 6,0-3	PLT015006B*SG/3	PLT015006BSEC/3	10000
18,0 x 6,5-3	PLT018006B*SG/3	PLT018006BSEC/3	10000
18,0 x 9,0-3	PLT018009B*SG/3	PLT018009BSEC/3	10000
20,0 x 8,0-3	PLT020008B*SG/3	PLT020008BSEC/3	10000
25,4 x 12,7-1	PLT025012B*SG	PLT025012BSEC	2000
25,4 x 12,7-3	PLT025012B*SG/3	PLT025012BSEC/3	10000
26,0 x 10,0-1	PLT026010B*SG	PLT026010BSEC	2000
26,0 x 10,0-3	PLT026010B*SG/3	PLT026010BSEC/3	10000
26,5 x 17,5-3	PLT026017B*SG/3	PLT026017BSEC/3	5000
30,0 x 20,0-1	PLT030020B*SG	PLT030020BSEC	2000
30,0 x 20,0-3	PLT030020B*SG/3	PLT030020BSEC/3	6000
32,0 x 9,5-1	PLT032009B*SG	PLT032009BSEC	2000
32,0 x 9,5-3	PLT032009B*SG/3	PLT032009BSEC/3	10000
34,0 x 15,0-1	PLT034015B*SG	PLT034015BSEC	2500
38,0 x 19,0-1	PLT038019B*SG	PLT038019BSEC	2000
38,1 x 12,7-1	PLT038012B*SG	PLT038012BSEC	2000
40,0 x 20,0-1	PLT040020B*SG	PLT040020BSEC	2000
45,0 x 23,0-1	PLT045023B*SG	PLT045023BSEC	2000
47,0 x 28,0-1	PLT047028B*SG	PLT047028BSEC	1500
50,0 x 23,0-1	PLT050023B*SG	PLT050023BSEC	2000
50,0 x 30,0-1	PLT050030B*SG	PLT050030BSEC	1000
60,0 x 23,0-1	PLT060023B*SG	PLT060023BSEC	2000
60,0 x 36,0-1	PLT060036B*SG	PLT060036BSEC	1000
65,0 x 35,0-1	PLT065035B*SG	PLT065035BSEC	1000
65,0 x 53,0-1	PLT065053B*SG	PLT065053BSEC	750
70,0 x 48,0-1	PLT070048B*SG	PLT070048BSEC	1000
76,2 x 22,9-1	PLT076022B*SG	PLT076022BSEC	2000
76,2 x 36,0-1	PLT076036B*SG	PLT076036BSEC	1000
80,0 x 48,0-1	PLT080048B*SG	PLT080048BSEC	1000
89,0 x 82,0-1	PLT089082B*SG	PLT089082BSEC	500
90,0 x 48,0-1	PLT090048B*SG	PLT090048BSEC	1000
101,6 x 23,0-1	PLT101023B*SG	PLT101023BSEC	2000
101,6 x 36,0-1	PLT101036B*SG	PLT101036BSEC	1000
101,6 x 48,0-1	PLT101048B*SG	PLT101048BSEC	1000
101,6 x 74,0-1	PLT101074B*SG	PLT101074BSEC	500

* material and color:

8 - MT301B silver gloss;

9 - MT302B white gloss;

We are regularly adding new label sizes. Contact us if you have not found the dimension want.

5095 thermal transfer film recommended.





EPL self-adhesive labels with gloss coating

EPL self-adhesive labels with gloss coating for the identification of electrical components, electrical cabinets, buttons, connection boards etc. They are characterised by high resistance to scratching and rubbing. They are also resistant to alcohols, lubricants and oils. The labels are flexible and feature an exceptionally high adhesion, which makes them perfect for application on uneven surfaces.

TYPE	HEIGHT	LENGTH	QTY/PACK.
EPL027008LR*	27 mm	8 mm	2500
EPL027125LR*	27 mm	12.5 mm	2000
EPL027015LR*	27 mm	15 mm	1500
EPL027018LR*	27 mm	18 mm	1500
EPL035019LR*	35 mm	19 mm	1250
EPL045015LR*	45 mm	15 mm	1500
EPL048019LR*	48 mm	19 mm	1250
EPL060030LR*	60 mm	30 mm	750
EPL069019LR*	69 mm	19 mm	1200
EPL069150LR*	69 mm	150 mm	200
EPL090045LR*	90 mm	45 mm	500
EPL100030LR*	100 mm	30 mm	500
EPL100050LR*	100 mm	50 mm	500
EPL100140LR*	100 mm	140 mm	500

* = COLOUR (4=yellow, 8=silver, 9=white); other colours available on request.

EPF - Halogen-free self-adhesive labels with matt coating

Halogen-free EPF self-adhesive labels with matt coating for the identification of electrical components, electrical cabinets, buttons, connection boards etc. They are characterised by high resistance to scratching and rubbing. They are also resistant to alcohols, lubricants and oils. The labels are flexible and feature an exceptionally high adhesion, which makes them perfect for application on uneven surfaces.

TYPE	HEIGHT	LENGTH	QTY/PACK.
EPF045015LR*	45 mm	15 mm	250
EPF069019LR*	69 mm	19 mm	250
EPF090045LR*	90 mm	45 mm	250
EPF100050LR*	100 mm	50 mm	250

* = COLOUR (4=yellow, 9=white)



PLTC - Self-adhesive vinyl label

Self-adhesive tape on a roll for thermal transfer overprinting.
 Label backing paper is wider than the tape, making it easy to peel it off and ensuring quick application.
 Vinyl labels are characterised by very high adhesion. They are the perfect solution for marking uneven, rough surfaces, curved or oval shapes.
 Durable acrylic adhesive allows using the tape on many surfaces, including stainless steel and glass.
 The labels are available in many sizes. Depending on the amount of information to be included on the label, the customer can select the appropriate height of the tape.

The most significant advantage and potential of the PLTC label is its continuous form, which enables to design and print labels of any length.

The range of MK10 thermal transfer printers allows you to print, then cut or perforate the label to the required length in one operation.

Excellent resistance to moisture, alcohols and oils.

The label is made of mass-dyed vinyl which guarantees resistance to UV radiation.

A universal label for general applications, both indoors and outdoors.



PROPERTIES

Working temperature
-40°C to +80°C

Material
Vinyl

Overprint
thermal transfer

Standard colours
white, yellow, other colours on request (red, blue, green, orange, brown, black, transparent).

Adhesive
permanent acrylic adhesive

Minimum application temperature
2°C

Expiry date
24 months at 21°C and 50% RH

TYPE	DESCRIPTION	HEIGHT	PACK. ROLL
PLTC009000D*VP	Self-adhesive vinyl label	9 mm	100 m
PLTC012000D*VP	Self-adhesive vinyl label	12 mm	100 m
PLTC025000D*VP	Self-adhesive vinyl label	25 mm	60 m
PLTC050000D*VP	Self-adhesive vinyl label	50 mm	30 m
PLTC100000D*VP	Self-adhesive vinyl label	100 mm	30 m

* 4 - yellow; 9 - white

RELATED PRODUCTS



MK10-E0S2



MK10-E0S5



MK10-SQUIX

